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1. Answer t±ie following questions in not more
than 5 sentences each (any seven) : 5x7=35

(a) What led to the decline of the fortune
of the banker?

(b) How did the last line of the story,
A Canary For One refute the
conversation that had taken place in
the train?

(c) Why did the thin man miss the train?

(d) Who is Sir Frederick Lawley? Why was
his statue installed in Lawley Road ?

(e) Why did Donne ask his wife not to
sigh or shed tears at his going away?

(f) What does Milton mean by In this dark
world and wide'?
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